

Date - 04.11.20

Newton's Divided Difference interpolation

For linear interpolation, let f is a continuous function define in $[a, b]$ and f is known for x_0, x_1 and we want to find a polyⁿ $P(x) = a_0 + a_1x$. where a_0 and a_1 are arbitrary constant, which satisfies the interpolation condition $f(x_0) = P(x_0)$
 $f(x_1) = P(x_1)$

Then $a_1x_0 + a_0 = f(x_0)$
 $a_1x_1 + a_0 = f(x_1)$

Eliminating a_0 and a_1 , we obtain the required linear interpolating polyⁿ -

$$\begin{vmatrix} P(x) & x & 1 \\ f(x_0) & x_0 & 1 \\ f(x_1) & x_1 & 1 \end{vmatrix} = 0$$

we now, expand the determinant in terms of the first row and get

$$P(x) = f(x_0) + (x - x_0) \frac{f(x_1) - f(x_0)}{x_1 - x_0}$$
$$= f(x_0) + (x - x_0) f[x_0, x_1]$$

where $\frac{f(x_1) - f(x_0)}{x_1 - x_0} = f[x_0, x_1]$

The ratio $f[x_0, x_1]$ is called the first divided difference of $f(x)$ relative to x_0 and x_1 .

We may write as $\frac{f(x) - f(x_0)}{x - x_0} = f[x_0, x_1]$

eqn ① and ② are called the linear Newton interpolating polynomial with divided differences.

Now we generalize, the Newton divided difference

we know $f[x_0, x_1] = \frac{f(x_1) - f(x_0)}{x_1 - x_0}$

$$f[x_0, x_1, x_2] = \frac{f[x_1, x_2] - f[x_0, x_1]}{x_2 - x_0}$$

$$= \frac{1}{(x_2 - x_0)} \left[\frac{f(x_2) - f(x_1)}{x_2 - x_1} - \frac{f(x_1) - f(x_0)}{x_1 - x_0} \right]$$

$$= \frac{f(x_2)}{(x_2 - x_0)(x_2 - x_1)} - \frac{f(x_1)}{(x_2 - x_0)} \left[\frac{1}{x_2 - x_1} + \frac{1}{x_1 - x_0} \right]$$

$$+ \frac{f(x_0)}{(x_2 - x_0)(x_1 - x_0)}$$

$$= \frac{f(x_2)}{(x_2 - x_0)(x_2 - x_1)} - \frac{f(x_1)(x_1 - x_0 + x_2 - x_1)}{(x_2 - x_0)(x_2 - x_1)(x_1 - x_0)} + \frac{f(x_0)}{(x_2 - x_0)(x_1 - x_0)}$$

$$= \frac{f(x_0)}{(x_2 - x_0)(x_1 - x_0)} + \frac{f(x_1)}{(x_1 - x_0)(x_1 - x_2)} + \frac{f(x_2)}{(x_2 - x_0)(x_2 - x_1)}$$

$$\therefore f[x_0, x_1, \dots, x_{k-1}, x_k] = \frac{f[x_1, x_2, \dots, x_k] - f[x_0, x_1, \dots, x_{k-1}]}{x_k - x_0}$$

$$k = 3, 4, \dots, n$$

In terms of functions values, the n -th divided difference can be written as

$$f[x_0, x_1, x_2, \dots, x_n] = \sum_{\substack{i=0 \\ i \neq j}}^n \frac{f(x_i)}{\prod_{j=0}^n (x_i - x_j)}$$

Using this divided difference concept we can calculate a interpolating polynomial.

Clearly $f[x_0, x_1] = f[x_1, x_0]$.

$f[x_0, x_1, x_2] = f[x_2, x_1, x_0]$.

$f[x_0, x_1, \dots, x_n] = f[x_n, x_{n-1}, \dots, x_0]$.

Now $P_n(x)$ be a interpolating polyn of $f(x)$ on $[a, b]$ and $f(x)$ is known for $n+1$ argument as $x_0 \leq x_1 \leq x_2 \leq \dots \leq x_n \leq b$.

and let $P_n(x) = a_0 + a_1(x-x_0) + a_2(x-x_0)(x-x_1)$

Substituting successively $x=x_0, x=x_1, \dots, x=x_n$ we obtain

$P_n(x_0) = a_0 = f(x_0)$.

$P_n(x_1) = a_0 + a_1(x_1-x_0) = f(x_1)$.

$\Rightarrow a_1(x_1-x_0) = f(x_1) - f(x_0)$

$\Rightarrow a_1 = \frac{f(x_1) - f(x_0)}{x_1 - x_0} = f[x_1, x_0]$

$P_n(x_2) = a_0 + a_1(x_2-x_0) + a_2(x_2-x_0)(x_2-x_1)$.

$\Rightarrow f(x_2) = f(x_0) + f[x_1, x_0](x_2-x_0) + a_2(x_2-x_0)(x_2-x_1)$

$\Rightarrow a_2(x_2-x_0)(x_2-x_1)$

$= f(x_2) - f(x_0) - f[x_1, x_0](x_2-x_0)$

$\Rightarrow a_2 = \frac{f(x_2) - f(x_0)}{(x_2-x_0)(x_2-x_1)} + \frac{f[x_1, x_0](x_2-x_0)}{(x_2-x_0)(x_2-x_1)}$

$= \frac{f(x_2)}{(x_2-x_0)(x_2-x_1)} + \frac{f(x_0)}{(x_2-x_2)(x_2-x_1)}$

$\leftarrow \frac{f(x_1) - f(x_0)}{(x_1-x_0)(x_2-x_1)}$

$= \frac{f(x_2)}{(x_2-x_0)(x_2-x_1)} + \frac{f(x_0)}{(x_2-x_1) \left[\frac{1}{x_0-x_2} + \frac{1}{x_1-x_0} \right]}$

$+ \frac{f(x_1)}{(x_1-x_0)(x_1-x_2)}$

$= \frac{f(x_0)}{(x_0-x_2)(x_0-x_1)} + \frac{f(x_1)}{(x_1-x_0)(x_1-x_2)} + \frac{f(x_2)}{(x_2-x_0)(x_2-x_1)} = f[x_0, x_1, x_2]$

using induction, we can prove that

$$a_n = f[x_0, x_1, \dots, x_n]$$

The divided difference interpolating polynomial becomes

$$P_n(x) = f[x_0] + (x-x_0)f[x_0, x_1] + (x-x_0)(x-x_1)f[x_0, x_1, x_2] + \dots + (x-x_0)(x-x_1)\dots(x-x_{n-1})f[x_0, x_1, \dots, x_n]$$

Note: Since the interpolating polynomial is unique, Lagrange and divided difference polynomials are two different forms of the same polynomial.

$$\begin{aligned} (x-x_0)f &= (x-x_0)(f_0 + f_1) = (x-x_0)f_0 + (x-x_0)f_1 \\ (x-x_0)(x-x_1)f &= (x-x_0)(x-x_1)(f_0 + f_1 + f_2) = (x-x_0)(x-x_1)f_0 + (x-x_0)(x-x_1)f_1 + (x-x_0)(x-x_1)f_2 \\ &\vdots \\ (x-x_0)(x-x_1)\dots(x-x_{n-1})f &= (x-x_0)(x-x_1)\dots(x-x_{n-1})(f_0 + f_1 + \dots + f_n) \\ &= (x-x_0)(x-x_1)\dots(x-x_{n-1})f_0 + (x-x_0)(x-x_1)\dots(x-x_{n-1})f_1 + \dots + (x-x_0)(x-x_1)\dots(x-x_{n-1})f_n \end{aligned}$$